
Solving 3x3 system of equations by linear combination

Use linear combination to get 2 equations with 2 variables

Solve this system by linear combination: (2,-5,4)

Check
(2) -3(-5)-2(4) = 9
2 +15 - 8        = 9
17 - 8              = 9
                   9  = 9 

Check
3(2) +2(-5)+6(4) = 20
  6 -10 +24         = 20
   30 -10              = 20
                   20    = 20

Check
4(2) -(-5)+3(4) = 25
  8 + 5 +12       = 25
                25    = 25



Check
(1) +(3)+(1) = 5
               5  = 5

Check
3(1) - (1) = 2
    3 -  1   = 2
           2  = 2

Check
(1) -(3)+2(1) = 0
  1  - 3 + 2    = 0
      -2   + 2   = 0
               0   = 0


